*AAT (IC/HW)-Days 1-2 Name M
Chapter 5: 5-3 Logarithmic Functions Date: Period:

Change to logarithmic form.
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Change to exponential form.
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Solve for t using logarithms with base a.
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5. (a) 10° = 100,000 (b) 10°=0.001 (c) 10"=y+1 (d)e’ =p (e) €° —3 - X

Change to exponential form.

6. logx—- (b) Iogx y 2 (c) Inx=1/2 (d) Inz=7+x

Find the number, if possible.
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Solve the equation.

8. loga x=1logs (8 - x)
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9. logs (x + 4) = logs (1 - X) 10. logx® = log(-3x - 2)
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Sketch the graph of f.
140. f(x) = log (x + 10) 15. f(x) = log (x + 100) 16. f(x)=In |x]|
;N\ L AW
Yo .
| T
l
éi[f i s (_l/

I

‘ v
|

Approximate x to three significant figures.

17. (a) logx 36274
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(b) log x=0.9469
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(c) log x =-1.6253
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